flux

A? / 0.6897

50

Ax? / 0.6818

100

200

Fe2 + Continuum Fit

= 0.6897

oy 152 km/s
=

Opep 431 +/— 107 km/s
fe2 —

2
X min / 4577
— o —

T T T'
1

\

\
:

Rest A (&)

Fe2 Scale Factor x2 Diagnosis

g, 152 km/s 0.03536(64) X2 / 4577 = 0.6897
— —_— min £ TE7T —

L rm281 RMS 4.57 -

I MAD 4.07 1

e

\ i \ \ \ 1

o, 100 1043 prior 225 km/s
T I T

0.035

Fe2 scale factor

Fe2 Velocity Dispersion x2 Diagnosis

622(107)
I T

X2, / 4577 = 0.6897

rm281

T
RMS 55.4
MAD 37.4

600 800

Fe2 Dispersion (km/s)

1000

1200



